
ANUBIS SOLUTION – A MATTER OF A PINION 
 
The examples shown weighed against FEATHER demonstrate how the weighting works: each letter in an 
answer weighs one unit, and the arrow tips to the heavier side by the difference between the two totals. 
 
The examples also demonstrate what words should be balanced against each other. Each contains a hidden 
word (KIDDIE TAX, STAR VEHICLE, COLLEGE STUDENTS, M-WAVE HIGH SPEED RINK) that is the 
opposite of a word hidden in FEATHER. 
 
Among the list of puzzle answers, WINDOW FASTENERS also contains an opposite to EAT. Weighing it 
against FEATHER tips the needle to 8 on the WINDOW FASTENERS side, indicating the A from that answer. 
Next, add PLUM BLOSSOMS to the left, as it is the opposite of WINDOW FASTENERS; the total weight on 
both sides now causes the needle to tip to 4 on the left, indicating the M. 
 
Continue chaining pairs of opposites and using the needle position to index into them, as shown below, to spell 
out the answer phrase A MATTER OF A PINION. 
 

 
 
 
 


